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S A
X XH .
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chel:

FOMETEY
20| EME DR
IEMEBE
SN HB S (3) - MEAY - B Aol e
OxEs 4,400
202 O4Hl 3,000 3,000
01 =2ZWodbl 3,000 3,000
OXdAS A2 H 2,000
OSEXANERE 1,000
FH=0 1,871,624 1,871,624
= 1,497,300
== 187,162
Al 187,162
301 LE8BAMZ 1,831,624 1,871,624
= 1,465,300
= 183, 162
Al 183, 162
01 AtalE ,831,624 1,871,624
OFHZ 1,831,624,000& ,831,624
= ,465,300
& 183, 162
Al 183, 162
307 Q12+ 40,000 0
= 32,000
< 4,000
Al 4,000
02 oIzt 40,000 0
O&l %2l 40,000,000 40,000
= 32,000
o= 4,000
Al 4,000
ME=a=10; 354,527 206,850
= 283,621
== 35,453
Al 35,453
301 et A= 354,527 206,850
= 283,621
== 35,453
Al 35,453




S FOIMET A
M 20| ZMBEE
ool I EMBEE (e9: @8
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
01 ANIBEE2HI 354,527 206,850 147,677
ongof 354,527,00024 354,527
2 283,621
= 35,453
Al 35,453
PNE I 50,401 39,250 1,151
=2 40,321
= 5,040
Al 5,040
301 YsPAZ 50,401 39,250 11,151
= 40,321
= 5,040
Al 5,040
01 ANIBEE2HI 50,401 39,250 11,151
Od &, HHIZO 50,401,000 50,401
2 40,321
= 5,040
Al 5,040
o &HHI B X 2 1,000 7,000 4,000
= 3,300
Al 7,700
301 LerEa3 11,000 7,000 4,000
= 3,300
Al 7,700
01 ANIBEEZIHI 11,000 7,000 4,000
L IEIENE 11,000,000 11,000
= 3,300
Al 7,700
RASIHES SBEOIX S 12,500 17,010 A4,510
=2 10,000
= 1,250
Al 1,250
01 YA 2,500 17,010 A4,510
= 10,000
= 1,250
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SN FOMBXAN
B 20| MR
o9 I ZMEST (el &2)
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 ggi B2
01 YurBAZ Al 1,250
TIEEEEESE 12,500 17,010 A4,510
OXA2INE YREAX 12,500,0002 12,500
2 10,000
= 1,250
Al 1,250
A2=7 287,500 218,874 68,626
= 230,000
= 28,750
Al 28,750
01 YuBAZ 287,500 218,874 68,626
= 230,000
= 28,750
Al 28,750
TIEEEEESE 287,500 218,874 68,626
ouz=x 287,500,0002 287,500
2 230,000
= 28,750
Al 28,750
el REHl N 6,000 6,000 0
307 eI2tolH 6,000 6,000 0
NEEEEEL] 6,000 6,000 0
OHgRS2E 2| 6,000,00024 6,000
NALEES UL H AL 21,320 119,272 ~97,952
= 14,924
= 3,198
Al 3,198
307 eI2tolH 21,320 119,272 A97,952
= 14,904
= 3,198
Al 3,198
05 RIRSIED 21,320 119,272 297,952
OXNHLEE 2T AL 21,320,0002 21,320
2 14,924
= 3,198




SN EOIMBXHEA
By RO ZMEEE
S JxZNESE (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Al 3,198
AMHIA HAH=A 1,000 2,000 A 1,000
202 O4H| 1,000 1,000 0
01 =2UWdHl 1,000 1,000 0
OMBIANHH SR+ 1,000,000& 1,000
BEHY OIS X HIHAALL 85,279 162,390 ANT7,111
= 59,695
== 12,792
Al 12,792
307 2I2tolA 85,279 162,390 ANTT, 111
= 59,695
== 12,792
Al 12,792
05 oI2te&32 85,279 162,390 ANT7, 111
OBEHEY OtsE A HIRH™HAE 85,279,000& 85,279
= 59,695
= 12,792
Al 12,792
IOt Ret=s 341,000 0 341,000
= 240,000
Al 101,000
301 e Aa3 341,000 0 341,000
== 240,000
Al 101,000
01 A E&EE5= 341,000 0 341,000
ORIItE Ret== 341,000,000& 341,000
& 240,000
Al 101,000
HAs iU ExZ2 300,000 0 300,000
=2 240,000
= 30,000
Al 30,000
301 LBt A= 300,000 0 300,000
= 240,000
== 30,000
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OMASHUXNEZZ 300,000,000 300,000
= 240,000
= 30,000
Al 30,000
AHEALS 665, 148 632,883 32,265
= 372,923
| 60,630
= 92,403
Al 139,192
NEASSH 26,544 27,778 AN1,234
= 21,235
= 2,654
Al 2,655
301 getEazg 26,544 27,778 A1,234
= 21,235
& 2,654
Al 2,655
01 AMSE2EH=EZ3 26,544 27,778 AN1,234
OXNEAL=ESHAS 26,544 ,000& 26,544
= 21,235
o= 2,654
Al 2,655
g ANFH 3,060 3,260 A200
201 L3 2,060 1,260 800
01 At 2teldl 2,060 1,260 800
OX&I 28N =4 1,260,000& 1,260
O0I2SI=XAME HALXZ 800,000& 800
202 (44l 1,000 1,000 0
01 =UWobl 1,000 1,000 0
OENsH2HNY| 1,000,000 1,000
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EI22 A S 43,961
Al 43,961
401 AIEHIZSOHI 439,610 468, 165 A 28,555
= 351,688
= 43,961
Al 43,961
01 A&l 439,610 468, 165 A 28,555
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= 43,961
Al 43,961
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& 32,796
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e 32,796
Al 76,524
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< 32,796
Al 76,524
A EY 2 ER0IAS 86,614 0 86,614
Il 60,630
= 12,992
Al 12,992
307 QI2toId 86,614 0 86,614
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= 12,992
Al 12,992
05 CIZtREZ 86,614 0 86,614
OJtARME 22 =<0 86,614,000& 86,614
I 60,630
< 12,992
Al 12,992
oz2=0 X (d2=0IISSESH) 839,331 10,838,536 29,999,205




S A

AR
el 2A230 NA(AZTS0IISSE3H) (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
oZ2=0 X (d2=0IISSE3IH) = 113,600
& 19,880
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OdzsH&EE s 2,309, 000& 2,309
2202 et & HA2HE R Y| 685,022 10,679,536 29,994,514
308 XXEHMSOIE 685,022 10,679,536 A9,994,514
05 XXSHHARES 685,022 10,679,536 N9,994,514
O2dss50=a31 A= 685,022,000& 685,022
SIBSHAIY #HHHIXA 9,000 9,000 0
= 7,200
= 1,260
Al 540
201 LEH23H] 4,500 4,500 0
= 3,600
= 630
Al 270
01 AR 2&cldl 4,500 4,500 0
OMA HZE, MREE ¢ 4,500,000& 4,500
= 3,600
= 630
Al 270
202 O4Hl 4,500 4,500 0
= 3,600
L= 630
Al 270
01 =LHAHUI 4,500 4,500 0
SEEER-EES 4,500,000} 4,500
= 3,600
< 630
Al 270
2202k =23 N 131,000 119,000 12,000
= 104,800
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A 24,500
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A 24,500
02 LAFHEE 35,000 35,000 0
ONZABI ST BB AISIS X B RHE Al
HSSAY 35,000, 0002 35,000
= 10,500
Al 24,500
2o 85 U X 1,474,730 1,258,498 216,232
2 935,033
= 384,087
A 155,610
Sl Al S0it| 462,500 462,950 A450
2 370,000
= 46,250
A 46,250
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01 YsrBAZ 5,960 5,960 0
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= 116,638
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= 267,665
== 98,201
Al 125,139
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Reiaext mejzal 30,780 8,118 22,662
= 15,390
= 7,695
Al 7,695
01 YerEA3 30,780 8,118 22,662
= 15,390
= 7,695
Al 7,695
NIEEEEEEE 30,780 8,118 22,662
OXS AT Zeisa 30,780,000 30,780
2 15,390
= 7,695
Al 7,695
2B E LAY 21,484 26,324 A4,840
= 10,742
Al 10,742
307 QI2H0IF 21,484 26,324 A4,840
= 10,742
Al 10,742
05 CI2FeErs 21,484 26,324 4,840
OEBIE-TEI=PVs-" 21,484,000 21,484
= 10,742
Al 10,742
XA 2SYs 288,773 230,960 57,813
= 20,732
= 15,366
Al 252,675
RAZA 25 &N 288,773 230,960 57,813
= 20,732
= 15,366
Al 252,675
A=A 2EEX 2 10,992 4,064 6,928
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307 QIt0IA 10,992 4,064 6,928
= 5,496
& 2,748
Al 2,748
02 fltHaEx 10,992 4,064 6,928
OXNESALR B8 = XI& 10,992,000 10,992
= 5,496
= 2,748
Al 2,748
ANESAZ2CUOIEH XA 30,472 29,896 576
= 15,236
= 7,618
Al 7,618
307 QI2t0IA 30,472 29,896 576
= 15,236
& 7,618
Al 7,618
02 gltFaeEx 30,472 29,896 576
OXE A ACIHIO0IE X 30,472,0002 30,472
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Al 236,309
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= 20,400
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Al 1,530
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= 20,400
= 3,570
Al 1,530
101 Q14| 25,500 23,400 2,100
= 20,400
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Al 1,530
09 RIAHEZ2=ZXES 25,500 23,400 2,100
OABIOR2IAF Q12| 25,500,000 25,500
= 20,400
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